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1.
2. Yes
3. A. 3 seconds and 11 seconds
B. 14 seconds
C. 7 seconds
D.784 feet
E. Graph
F.Domain: 0 < x <14
Range: 0 £y £784
4. A. ~7.5feet
) B. 0.8 seconds
,. C. 18 feet
D. 1.5 seconds
5. A. 35 students
B.O<x=<70
C. in between 0 and 70 students will give her a profit J
D. 20 - 50 students
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Algebra I - Unit 9: Topic 4 — Analyzing Quadratic Graphs
Practice — Analyzing Quadratic Graphs No Textbook Correlation

Name Date Period

1. The height in feet above the ground of an arrow after it is shot can be modeled by y =—16x% +62x +4. Can the
arrow pass over a tree that is 68 feet tall? Explain why or why not.

2. A superhero is trying to leap over a tall building. The function n{r) =-16t* + 200t gives the superhera’s height in
feet as a function of time. The building is 612 feet high. Will the superhero make it over the building? Explain.

3. Arocket is launched from ground level with an initial velocity of 224 ft,fs in fegtof theyrocket at any
given time, £ in seconds is h(t) = 224t — 16t%. ] ] : I..

A. When will the rocket reach a height of 528 feet? h : i it Sl A A'S Y

B. When will the rdCket reach the grouhd? (

C. When will the rocket reach its maximum height?

1= L LT ]

r ortme

= smrm
p=L—2—1—2—1—F—J

D. What is the maximum height of rocket?
E. Graph this situatign,ﬁeling axes.

F. State the domain and range of the Situation.

4. A basketball player takes a shot. The graph at the right shows the height fg T

Y4 Yz

=d

m

=L
[—3—1—T1—JF—T1—T—)

of the ball, in feet, starting from when it leaves the player's hands. ! N T A
g play: }g /,-—-\\
A. Estimate the height of the ball when it is released by the player? 15 .// \\
u 7 N
/ N\
_ _ _ . Eu/ \
B. Approximately when does the ball reach its maximum height? e AN [N
sy =
O A
C. What is the approximate maximum height? g: -

D. How long does it take the ball to reach the basket, which is set ata 1 .
height of 10 feet? 0 010203040506070808 1 111213 1.4 1.5 16 1.7

Time (8)
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5. The amount of profit a travel agent will make is given by the formula P =707 - n*, where Pis the amount of profit
and 7 is the number of students who will take the trip. The graph at the right illustrates how the profit is dependent

on the number of students.

A. Approximately what number of students gives the

]

travel agent the maximum profit? [ /

B. What is the domain of the situation?

C. What is the meaning of this domain?

Profit (Dollars)
RERE

D. How many students must take the trip in order for the
agent to earn at least $1000?

AR

O 5 10 15 20 25 30 35 4D 45 50 S5 &0 65 70 75

Number of Students

6. The table below shows #, the height in meters of a model rocket, versus £ the time in seconds after the rocket is

launched. From the table, what conclusion can be made about the flight of the rocket?

Time in o [o5] 1 | 15] 2 3 | 35 | 425
seconds
Heightin | > | g |195| 15 | 16 | 13 | 88 | 0
meters

The rocket reached its maximum height after 2.5 seconds.
At 0 seconds the rocket was 2 meters off the ground.

The height of the rocket was 0 meters when it was launched.
The rocket was in flight for 5 seconds.

oNnm >

7. A bakery determines the following relationship between the price of its cakes and its?Eailv profits,
[

Which is the_best conclusion that can be drawn from the graph? 300

Profitssg

As the selling price increases, the profits increase  #2
0 (%)

e profits range from approximately $165 to $275. °
An increase in the price of the cakes results in an

increase in the number of cakes sold.
><he maximum number of cakes that the bakery can sell is 275.

/ Z Z\\]

P ' 1

7 4 B R 7 A Q

Selling Price ($)

8. Michael threw a ball upward from the roof of a 40-foot-high building at an initial velocity of 40 feet per second. The
table shows the relationship between the time elapsed and the ball's height above the ground. If the height of the
ball is a quadratic function of time, between what times did the ball reach a height of 60 feet?

Time after Michael Height of the ball A Between 0 seconds and 0.5 second
threw the ball above the ground
(seconds) (feet) B Between 1 second and 1.5 seconds
0 40
0.5 56 C  Between 0.5 second and 1 second
1 64 and between 1.5 seconds and 2 seconds
1.5 64
7 56 D Between 1 second and 1.5 seconds
25 40 and between 1.5 seconds and 2 seconds
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Name

Find the roots of each of the following equations.

1. 2x°-3x-14=0

3. F+7x=-10

2. x*-81=0

Find one of the solutions of the following equations

5. 3x*-8x=-4

' 2\
A. (-2,0) C. ‘O’TJ
3
B. \f—%:o\] D. (2,0)
. . J

7. Find the quadratic equation (in factored

form) that has the given solutions. x: {-7, 2}

A. y=(x+7)(x-2)
B. y=(x-7)(x+2)
C. y=(x+7)(x+2)
D. y=(x-7)(x-2)

6. x> —10x=-21

A. (-3,0) C. (0,7)

B. (7,0) D. (3,7)

8. Which of the following equations represents
problem #7 in standard form?

y=x"4+9x+14
y=x-5x-14
y= P +5x+14

oo w»

y=x'+5x-14
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